

GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin, TX, 78758

Phone: (512) 452-0651

Quote

Quote #: QT0099390
Date: 5/18/2023

Delivery Date:

Expire Date:6/17/2023Customer ID:TXKLLN13004Sales Contact:Jairus Mika

QUC	TE FOR:		SHIP TO:				
City	of Killeen		City of Killeen				
	CUSTOMER P.O. NO.	TERMS			SALES R	EP	
		Net 30 Days			Callie Dur	าท	
		SHIPPING TERMS			SHIP VI	4	
NO.	ITEM	CONTRACT	QTY.	UC	M	PRICE	EXTENDED PRICE
1	210-BCFW: Dell Latitude 5430 Rug	gged DIR-TSO-376	3-R 56.0	00 E	ACH	\$2,866.30	\$160,512.80

NOTE: Dell Latitude 5430 Rugged

Intel Core Processor i5-1135G7, (QC, 2.4 to 3.8 GHz, 28W, non-vPro)

Windows 11 Pro, English, French, Spanish

No Microsoft Office License Included

Intel® Core™ non-vPro i5-1135G7 with Iris Xe Graphics

ME Lockout MOD - Manageability

16GB, 2x8GB, 3200 MHz DDR4 Non-ECC

512GB M.2 PCIe NVMe Class 35 Solid State Drive

14" Touch 1100 nits WVA FHD (1920 x 1080) 100% sRGB Anti-

Glare, Outdoor Viewable

English US RGB Backlit Sealed Internal keyboard

Intel AX210 WLAN Driver

Intel AX210 Wireless Card with Bluetooth

4G CAT16 - Qualcomm® Snapdragon™ X20 LTE (DW5821e), w/o

eSIM, Verizon, NMEA GPS port

Hot surface warning label

Primary 3 Cell 53.5 Whr ExpressCharge Capable Battery

90W 461G Type-C EPEAT Adapter

No Fingerprint, no Smartcard reader

Power Cord 1M US

Setup and Features Guide

Hot surface warning label

Additional 3 Cell 53.5 Whr ExpressCharge Capable Battery

ENERGY STAR Qualified

Custom Configuration

Dell Applications for Windows 11

Mix Ship, Notebook, 5430 Rugged

 $\label{thm:microphone} \textbf{Microphone} \ \textbf{+RGB} \ \textbf{HD} \ \textbf{camera}; \ \textbf{Touch}; \ \textbf{WLAN/WWAN} \ \textbf{antennae};$

Pogo vehicle docking and RF passthrough

EPEAT 2018 Registered (Silver)

No Option Included

Additional USB-A rear port

Additional TBT/Type-C port

Rigid handle

ProSupport Plus: Next Business Day Onsite, 2 Years Extended

ProSupport Plus: Next Business Day Onsite, 3 Years

Dell Limited Hardware Warranty Initial Year

Continued... Page: 1 of 2



GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin, TX, 78758 Phone: (512) 452-0651

Quote

Quote #: QT0099390
Date: 5/18/2023

Delivery Date:

Expire Date:6/17/2023Customer ID:TXKLLN13004Sales Contact:Jairus Mika

QUO	TE FOR:		S	HIP TO:				
City	City of Killeen			ity of Killeen				
	CUSTOMER P.O. NO.		RMS				S REP	
		Net 30	Days			Callie	Dunn	
		SHIPPIN	G TERMS			SHII	PVIA	
NO.	ITEM		CONTRACT	QT	ΓY.	UOM	PRICE	EXTENDED PRICE
	ProSupport Plus: Accider	-						
	ProSupport Plus: Keep Y							
	ProSupport Plus: 7X24 T	• • •						
	Dell Limited Hardware W	arranty Extended Yea	ar(s)					
	Thank you for choosing D	Dell ProSupport Plus.	For tech support, vis	it				
	www.dell.com/contactdel	l or call 1-866-516-31	15					
	MSRP \$5034.00							
2	DS-DA-113: Retrofit Kit for use wit DELL-4X0 Series Docking Station		DIR-CPO-4751	49	9.00	EACH	\$60.77	\$2,977.73

Total Weight (EACH):	0	Sales Total:	\$163,490.53
Total Volume (EACH):	0	Freight & Misc.:	\$0.00
Prices do NOT include taxes, insurance, shipping, delivery, setup fees, or any cables or cabling services of material unless specifically listed above. If a customer requests expedited or special delivery, causes carrier requests redelivery, customer will be responsible for any additional charges for these services directly be the carrier. All prices are subject to change without notice. Supply subject to availability.	er delays	Tax Total: Total (USD):	\$0.00 \$163,490.53

Sales Order

DANA SAFETY SUPPLY, INC 4809 KOGER BLVD GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Order No.	481006-B
Customer No.	KILLEENPD

Ship To

Bill To

KILLEEN POLICE DEPARTMENT 3304 COMMUNITY BLVD KILLEEN, TX 76542 US DANA SAFETY SUPPLY ROUND ROCK, TX US

Contact: STEPHANIE CAMERON

Telephone: 254-501-8830 **E-mail:** SCameron@killeentexas.gov

Contact: SCOTT BEAL Telephone:

E-mail:

Order Date Ship Via F.O.B. **Customer PO Number Payment Method** 05/04/23 **GROUND SHIPMENT QUOTED FREIGHT** EMAIL APPROVAL NET30 **Entered By** Ordered By Resale Number Salesperson SCOTT BEAL ROUND ROCK Scott Beal

Scott Beat			SCOTT BEAL ROUND ROCK		
Order Quantity	Open Quantity	Tax	Item Number / Description	Unit Price	Extended Price
	-				
54	54	N	INFO	0.0000	0.00
			TIPS USA CONTRACT #210102		
			Warehouse: RROC Vin #:		
54	54	Y	CCTL5	323.2800	17,457.12
			WEC 5-Position Progressive Light/Siren Control		
			Warehouse: RROC Vin #:		
54	54	Y	INSTALL	142.5000	7,695.00
			DSS INSTALLATION OF EQUIPMENT		
			Warehouse: RROC Vin #:		
54	54	Y	SC-1901	39.9800	2,158.92
			SC ALUMINUM BUTT PLATE		
			Warehouse: RROC Vin #:		
54	54	Y	SC-9230	44.5800	2,407.32
			SC 30" UNIVERSAL RAIL		
			Warehouse: RROC Vin #:		
54	54	Y	SC-9302	38.9800	2,104.92
			SC MOUNTING HINGE		
			Warehouse: RROC Vin #:		
54	54	Y	SC-9903	36.5800	1,975.32
			SC L BRACKET, SQUARE BUTT PLATE BRACKET		
			Warehouse: RROC Vin #:		

Print Date Print Time	05/04/23 05:01:28 PM
Page No.	

Printed By: Scott Beal

Sales Order

Payment Method

DANA SAFETY SUPPLY, INC 4809 KOGER BLVD GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Order No.	481006-B		
Customer No.	KILLEENPD		

Ship To

Bill To

KILLEEN POLICE DEPARTMENT 3304 COMMUNITY BLVD KILLEEN, TX 76542

Ship Via

US

Order Date

DANA SAFETY SUPPLY ROUND ROCK, TX US

Customer PO Number

Contact: STEPHANIE CAMERON Contact: SCOTT BEAL

F.O.B.

Telephone: 254-501-8830 Telephone: E-mail: SCameron@killeentexas.gov E-mail:

05/04/23		JD SH	IPMENT	QUOTED FREIGHT	EMAIL APPROVAL	T. N	NET30
Entered By Salesperson		Ordered By		le Number			
Scott Beal SCOTT BEAL ROUND ROCK							
Order Quantity	Open Quantity	Tax		Item Number / De	scription	Unit Price	Extended Price
2	2	Y	ARGES1			599.2000	1,198.40
			WEC ARC	GES 5 DEG REMOTE SPO	TLIGHT		
				Warehouse: RR	OC Vin #:		
2	2	Y	ARGCH1			267.2000	534.40
			WEC ARC	GES BAIL MT CONTROL			
				Warehouse: RR	OC Vin #:		
2	2	Y	ARG47CD			87.2000	174.40
			WEC DRV	R FENDER MT 2021 FOR			
	2	3.7	INICTALI	Warehouse: RR	OC Vin #:	50,000	100.00
2	2	Y	INSTALL KIT 50.0000 100.00				
			MISC INSTALLATION SUPPLIES I.E. Warehouse: RROC Vin #:				
			Warenouse: RROC VIII #: LOOM, WIRE, HARDWARE, CONNECTORS, ETC ************************************				
2	2	Y	INSTALL			350.0000	700.00
			DSS INST	ALLATION OF ARGES			
				Warehouse: RR	OC Vin #:		
54	54	Y	C-TTP-IN		Delivery Info: 627861	286.0000	15,444.00
			HAV 2020	Ford Police Interceptor Ut	•		
			2020 E 1B	Warehouse: RR			
			2020 Ford Po	lice Interceptor Utility Premium F	old-Up Equipment Tray		

Print Date	05/04/23
Print Time	05:01:28 PM
Page No.	2

Amount Shipped	0.00
Open Order	51,949.80

Printed By: S	Scott Beal
---------------	------------

Subtotal	51,949.80
Freight	1,950.00
Order Total	53,899.80